SRR EL/ AR H

CA2WL]H %%

Ki&A /040, 050, 063, 80, 0100

MSRTHE

- CA2VIV|L|| Hi50[ |-f1oo]l |

 CDAZW

L

50

100

M9BW

h‘ I_$ ! AN
ilﬁi Fh e #izg | 24
T e = [xigs [ RrttAX \ S N
REER @ EiEE | Rc O e ‘
= Siw . e R MELRMFARENTRTHE. | 3 7S
L 0 B e B [mize | < TF G 0 nt
F FFsE =8 | Fx | % . HIEIES
T i E A SR T X M5 & R T HIE. = BiE | kide %
40| 40mm = J RAMNA
N EMINSERS egw e 2o S0mm e K AL
SikE S 63 eamm >
MEUATRMTFANG S, 80 somm e 2 B
B FFERIS 4 TR S, 200 Toomm Uakiak KK [Eikii
(f51)CDA2WLH40-100 ® SAT4TEZ(mm)
¥R,
EAREMETF R /a7 5 B A0 MG S IUP.1263~1371.
. RHEBE BT XE S SLKE(m)
ik BHALEE el Bl mame . | B @% | 05 |1]3]5 Efj;z BERH
o R £ &ML | @ )
S5 (NP M9N - ® (@e/l@e/O| O
= G59 | @ |- (@[O0 O
 — 5V,12V MOP — ° NG 0 ICE 3%
apwmgs| | SEONP 2V - G5P | @ |- |®|0] O
— 1oV M9B = e (@e/@e/O] O
24 - K9 | @ | |@[O] O
- — | 1oov200v |  J51 = ® |-|®e/O| - -
b B 34(NPN) 1oy G39C | G39 - [=1=1=-1 =
= BgER 2% K39C | K39 | — |- |-|-| -
B . MONW = ® (@e/l@e/O| © 3
-& 5| SEOPNY — | G5ow | @ | [@|O| O |icmm|%EE
| Lwmmcanm _ sva2v MPW | - | ® |@|®@[ O] O Pe
PRI SEINPN) — [ G5PW | @ |- (@O O
i M9BW = e (@e/@e/O] O
R 24 2V | v — [ Keow | @ | [®|O] O
3£(NPN) 5v1v M9ONA = O |0/®@|O] O _
o 3% (PNP) ' M9PA = © |0@|O| O
7K 5% (2B 38 7R) s 1oV M9BA _ @) Olelo O
% — GsBA | - |- |®@|0| O
HLHTR T (BT 425(NPN) 5V,12V F59F | G59F | @ | (@ |O| O |[IcEs
RS REIET) 245 (FAR1) - P4DW - - [~ lele] © -
5 34 (1 4NPN) - 5V - % A96 - e -0 - - ICE % -
L 100V 4793 = [ ] - | @ - - -
a7 HiEHEK | L 100V T | **A90 = o -0 - - |lcEs |,
fik 5] vV A54 | B54 | @ | (@ - meE
i o x o5 ay | 12V [200ViT| A64 B64 o | -0 - -
ut SE 5 ~ | A3C | A3 | - |- |- -
= | s | 5 100V 200V A34C A34 — - = |- - PLC
DIN#% T : A44C | A44 - = - PEeE
PHIERRERET) |ERB4R - A5OW | B59W | @ |- @ |- | - PLC
HSLKEF S 0.5m TieS  (BIMINW O B TR R T S T BT,
im M (51)MONWM 3% 050 ED-A9[ ], D-A9[JVEIRE] %4 D-Z7[ ], D-Z8OR M E B S .
3m L (f51)MONWL
5m z (f51)MONWZ

MBRAREI SN, ] GET AL R M FF X5 ILP406,
WL R B AL AR FT X 5 WP 13281329,
3D-A9[], MO, MO[IW, MO[JAL BB FF X R [~ (CREB %) . (BREM FF R RAEAHLRILH.)

396

& SNC




swpms/ wrniel CA2WL 1H &5

g
FL12(mm) 40 50 63 80 100
Rt SR
{ER R prii o
HEAR WAEH
it ER W E S 1.5MPa
BEEREN 1.0MPa CJ1
FIREREN 0.16MPa CJP
EREEEE 0.5~300mm/s
NERERERREEE 5'C~60°C cJ2
Rt 2L x
TRKEAE ~250%:"%" ~ 251 ~750%: 5" CM2
RIERK BEAR HeMER . A= hiEEHE
P CG1
i FREITIER / sunatnsns witFxRE TR/ TR IP.403, 404, |:MB
12 (mm) FRAEFTHE(mm) MB1
40 2550, 75. 100, 125, 150, 175, 200, 250, 300, 350, 400. 450, 500
50 63 2550, 75, 100, 125, 150, 175, 200, 250, 300, 350. 400. 450, 500. 600 m
80 100 2550, 75, 100, 125, 150, 175, 200, 250, 300 350, 400. 450. 500. 600, 700
MRS REMRER R/ RSN P B TR AT 2 CS1
1712
. PP E R R CS2
ANix=
ORBFEWDES . SEMREHRRRE, RET s B3R R RS FHRE
BERR/MTREEARRE. HA 2P EEHMENITE. J =4k 70°C
(L P.403) K [ ¥110°C
HEPBPERENRBRERE.
T
HHMEFF R A% S Il —P.401~406,
MR R E RN RNTE LR AR | R | 322 5 q’fEUIJ
BEMETF S AR EALE (TR A A AT ) B i
pae g FEEE [fRes e o | o | o
S BRHEL e o | o | o
FAREHRADE, T e o o e
Gk
HHPE [ ] [ ] [ ) [ )
KB HER T 5CA2E T A/ ST RIAR, $P.397,
JRE R /SR (BREL )
(kg)
£17%(mm) 40 50 63 80 100
] 103 | 159 | 226 | 394 | 557
2xn (1.08) | (1.64) | (2.30) | (4.09) | (5.78)
J 122 | 181 | 259 | 461 | 665
R HEEER | (157) | (1.86) | (2.63) | (4.76) | (6.77)
RRE S 140 | 205 | 305 | 539 | 7.49
E=E (1.45) | (2.09) | (38.09) | (5.55) | (7.70)
, 139 | 207 | 306 | 549 | 7.85
Fan (1.49) | (2.18) | (3.25) | (5.78) | (8.24)
S50mm | & WREM 030 | 040 | 050 | 071 | 092
SRl |EavmEszR) | (0.35) | (0.47) | (0.55) | (0.89) | (1.15) D-
BINRE | GHBHERE | (0.44) | (0.58) | (0.77) | (1.06) | (1.35)
o [SEEL_ o oaox L ba o A0
) <\ . . . . .
HHETTE . (1) CA2WLHA0-100 (5 m IR, 040, 100%)  3%¢( )M H{A D EREL A5
QOEARE 1.22(4E BIEER . 040) "B E. =Xl
QL INRE 0.30/50mm%7F2 R
@@= 51772 100mm BA
1.22+0.30 x 100/50 = 1.82kg 'JJ’*"

% S\VC



CA2W[_]H %53

5 B

AT/ B
& )

(o Ete] nE
40 CA2WH40A-PS
50 CA2WH50A-PS HiEeFsH
63 CA2WH63A-PS ©. 0.0
80 CA2WHB80A-PS A—H
100 CA2WH100A-PS

il Es
F5 B R =%
1| FESE $Ee TS A0 3
2 | £ A5 4 BRAREL
3 | EEH BR5M SRR
4 | BHE BEY HERE
5 | BEE EREE
6 | HERE 5LARN SEE
7 | PR ELARN EE
8 | fItF 40 HER
9 | LR NBR
10 | HEHE NBR
1 | AEEHE NBR
12 | GIRREHE NBR
13 | FEHEHE NBR
14 | FERESE BaE
15 | #FimigE 4LIRSW $EIR
16 | HSE AW BEEBRE
17 | Bk RN
398

O

KEHMEED SR, SIP.407,

MEHBEAER0~H—E, BENMIERHANLSES.

S B A 178 A5 £(040. 505109 063 ) - 209)
REABIEENGE BIZ TR SEE.
§9;8A5R S . GR-S-010(10g) . GR-5-020(20g)



swpms/ wrniel CA2WL 1H &5

EHA&R /CA2WBH
4xJ G 2xP
—m% KA (Rc,NPT,G) —HE KA
,\‘) : J . L‘/‘ MM - MM
\f =W
il (©)T I o T
DEn] = " cJ1
‘ N |F “TAL
B1 K A
C S+{7iz i H+{718 CJP
B Z2Z+217%2
o — cJ2
i= —
o R | E% l . CM2
9 1& — cG1
10.2 4 f
W) 10.2 (| f f | (+1772 10.2 MB
- . e
PP h Y S
(mm)_ |\IB1
RS 17#25EE (mm)
= : A|AL| B |B | C|D|E|F|G/|H J K |KA| M MM N
mm) | Epie | whre ‘ ‘ m
40 ~500 20~500 30 27 60 22 44 16 32 10 15 8 M8 x 1.25 6 14 11 M14x1.5 27
50 ~600 20~600 35 32 70 27 52 20 40 10 17 11 M8 x 1.25 7 18 11 M18 x 1.5 30 cs-l
63 ~600 20~600 35 32 85 27 64 20 40 10 17 11 M10 x 1.25 7 18 14 M18 x 1.5 31
80 ~750 20~750 40 37 102 32 78 25 52 14 21 13 M12 x1.75 11 22 17 M22 x 1.5 37 csz
100 ~750 20~750 40 37 116 41 92 30 52 14 21 16 M12 x 1.75 11 26 17 M26 x 1.5 40
EARES P s EBPE IR EEM) (A1)
(mm) H[zz|d][e] f]n ] zz | zz
40 A 84 51 186 | 56 43 (11.2| 59 s (T1E 194 | 202
50 /s 90 58 | 206 | 64 52 | 11.2| 66 Ny 772 214 | 222
63 g 98 58 214 64 52 | 11.2 | 66 s 1752 222 | 230
80 KA 116 71 258 76 65 | 125 | 80 Is 1772 267 | 276
100 '/ 126 72 270 76 65 | 14.0 | 81 I, $772 279 | 288
4 e p EE Y /CA2WLH
S+i72
G_ 2xP
BRTHPE (ReNPT.G)
H = R——
| T
e lel u
et D) |
T VAN I
, = - LX
102 ¢ 1 LS+oE | c
h+¢ ZZ+21778 B
ZZ+ 1+ 21778 (mm)
FAKES 725 (mm)
= = A|AL| B |Bi|C|D|E|F|G|H J K |KA|LD|LH|LS|LT
(mm) | £z | whps ! !
40 ~500 20~500 30 27 60 22 44 16 32 10 15 8 M8 x 1.25 6 14 9 40 | 138 | 3.2
50 ~600 20~600 35 32 70 27 52 20 40 10 17 11 M8 x 1.25 7 18 9 45 | 144 | 3.2
63 ~600 20~600 35 32 85 27 64 20 40 10 17 11 M10 x 1.25 7 18 |11.5| 50 |166 | 3.2
80 ~750 20~750 40 37 102 32 78 25 52 14 21 13 M12 x 1.75 11 22 | 185 | 65 (204 | 45
100 ~750 20~750 40 37 116 41 92 30 52 14 21 16 M12 x 1.75 11 26 | 135 | 75 |212 | 6.0
- — D-[]
EARES EBPE AP E (E M) (A1)
(mm) | X | LY LAl NIP IS W XY T2 a]e|f]h ’ 2z | zz
40 42 70 M14 x1.5 27 A 84 8 27 13 51 186 56 43 11.2 | 59 s 778 194 | 202 -XD
50 50 80 M18x 1.5 30 /g 90 0 27 13 58 | 206 | 64 52 (11.2 | 66 s 1778 214 | 222 A5l
63 59 93 M18 x 1.5 31 %ls 98 0 34 16 58 214 64 52 11.2 | 66 15 1772 222 | 230 =X
80 76 116 M22 x 1.5 S A 116 0 44 16 71 258 76 65 | 125 | 80 Ny $772 267 | 276 A
100 92 133 M26 x 1.5 40 A 126 0 43 17 72 270 76 65 14.0 | 81 Ny 1772 279 | 288 ﬁ*—l-

399



CA2W[_]H %53

Mm% =2 /CA2WFH
BNEHERFFE
= i)
Q9|
10.2 4
h+/ ) _
22+ (+21712 H S+{718 H+4732
ZZ+2177%%
(mm)
iz | 7B (mm) A | AL | FB | B B (o] D E |FD | FT |FX | FY | FZ | FV | G H J K
ool [ e 1 1
(mm) |FBRE HHFE
40 | ~500 | 20~500 | 30 | 27 | 71 | 60 | 22 | 44 | 16 | 32 | 9.0 | 12 | 80 | 42 | 100 | 60 | 15 | 8 | M8x1.25 | 6
50 | ~600 | 20~600 | 35 | 32 | 81 | 70 | 27 | 52 | 20 | 40 | 9.0 | 12 | 90 | 50 | 110 | 70 | 17 | 11 | M8x1.25 | 7
63 | ~600 | 20~600 | 35 | 32 | 101 | 85 | 27 | 64 | 20 | 40 |11.5| 15 | 105 | 59 | 130 | 86 | 17 | 11 | M10x1.25 | 7
80 | ~750 | 20~750 | 40 | 37 | 119 | 102 | 32 | 78 | 25 | 52 |135| 18 | 130 | 76 | 160 | 102 | 21 | 13 | M12x1.75 | 11
100 | ~750 | 20~750 | 40 | 37 | 133 | 116 | 41 | 92 | 30 | 52 |135| 18 | 150 | 92 | 180 | 116 | 21 | 16 | M12x1.75 | 11
5142 EbinE BN E (S ) (1) KT RETRKAE, B
(mm) KA | M MM N P S HIZZ| *d | e f h / 7Z | zZ B EBIAFLINT,
T - ZILR LB B R E A
40 14 | 11 | M14x15| 27 | s | 84 | 51 | 186 | 52 | 43 | 15 | 59 s 4772 | 194 | 202 Zodx .
50 18 | 11 | Mi8x15| 30 | s | 90 | 58 | 206 | 58 | 52 | 15 | 66 s 1358 | 214 | 222
63 18 | 14 | Mi8x15 | 31 | % | 98 | 58 | 214 | 58 | 52 | 17.5| 66 s 4772 | 222 | 230
80 22 | 17 | M2x15 | 37 | ' | 116 | 71 | 258 | 80 | 65 |21.5| 80 | 'a43i2 | 267 | 276
100 | 26 | 17 | M2%6x15 | 40 | "> | 126 | 72 | 270 | 80 | 65 |21.5| 81 4477 | 279 | 288
fE E4fAl /CA2WTH
BNEHEHIFE
_ Z1/24772
Zirr 126588 — % KA G 2xP
3315 Br  (Ro,NPT,G)
LEF— | MM i e —
— N\ !
Py -1
38 “é]%i* "W@‘*”*{*\”*’* =
é K ;i
= o Hi | [ €5t
102 | ¢ |t AL
h+( A KJF_N
ZZ+ 1+ 217 H S+i782 H+58
Z2Z+27772
(mm)
12 FTIETEE (mm
e ﬂ;;z.iw; z| A|AL|B |B|C | D|E|F |G J | K| MM | N |P | S | TDes
™
40 ~500 20~500 | 30 | 27 | 60 | 22 | 44 |16 | 32 | 10 | 15 |M8x125| 6 |Mi14x15| 27 | "4 | 84 | 15.0%%
50 ~600 20~600 | 35 | 32 | 70 | 27 | 52 | 20 | 40 | 10 | 17 |M8x125| 7 |Mi8x15| 30 | % | 90 | 15592
63 ~600 20~600 | 35 | 32 | 85 | 27 | 64 | 20 | 40 | 10 | 17 |M10x125| 7 | Mi18x15| 31 | % | 98 | 182592
80 ~750 20~750 | 40 | 37 [102 | 32 | 78 | 25 | 52 | 14 | 21 |Mi2x175| 11 | M22x15| 37 | » | 116 | 2525349
100 ~750 20~750 | 40 | 37 |116 | 41 | 92 | 30 | 52 | 14 | 21 |M12x175| 11 | M26x15| 40 | '» | 126 | 255943
Ak ThithE R (M) ()
m) | TT{TX T TZ =272 Td [ e | T ] h l Z |zz| z | zz
40 22 | 85 | 62 | 117 | 51 | 93 | 186 | 56 | 43 |11.2| 59 | 'uf38 | 101 | 194 | 101 | 202
50 22 | 95 | 74 | 127 | 58 | 103 | 206 | 64 | 52 |11.2| 66 | uf7E | 111 | 214 | 111 | 222
63 28 | 110 | 90 | 148 | 58 | 107 | 214 | 64 | 52 | 11.2| 66 | Y78 | 115 | 222 | 115 | 230
80 | 34 | 140 | 110 [ 192 | 71 | 129 | 258 | 76 | 65 |125| 80 | 'a43i2 | 138 | 267 | 138 | 276
100 | 40 | 162 | 130 | 214 | 72 | 135 | 270 | 76 | 65 |14.0 | 81 4475 | 144 | 279 | 144 | 288
MEMEIE NS % .S HP.407,
400 ZSVC



s CA2 %7

HMEFREEREMEITRRBRHN) RRESE

<{HHRIE> <fFRE>
D-B5[1/B64/B59W#! D-A9[/A9[VE! D-Z7[1/Z80%!
— D-MO[/MO[IVE! D-Y59 /Y69 1/Y7P/Y7PVE

D-MOOW/MOOWV#!  D-Y7OOW/Y7OWVZE!
D-MOJAL/MOJAVLE! D-Y7BALZY

A BT %

el

20| |.B
D-A3[J&! D-A5[/A6[1%
D-G39/K39%! D-A59W%!
49 G1/2((E&BHIME) ‘
Sigss
CE

"
D-G5[1/K59%! D-A3[ICH!
D-G5JW/K59W%! D-G39C/K39C#!
D-G5BALZ! %—pq—ar
D-G59F/G5NTLE! g )RR Eeess

1

. .
BT “Hs i H H‘EQ
A 33

D-A44%7! D-F5[1/J5&!
D-F5NTLZ!
D-F5JW/J59W#!
D-F5BAL/F59F %!
Rt %

o

D-A44CZz!
G1/2
& %vaM;a‘s.a—wn.s)
Eﬁ s O
=]

=Ht =Ht

401

.
(.
-t

o
[
<

(]
G
N

E

(=]
D
—h

—h

< HE

(5]
(7]
—

(7]
(7]
N



CA2 %7

A e o 4= F0O TP
MRS EREME((THRRBEHNERESE
BT XS ERENME BRIREER SRR (mm)
BT D-B59W D-A5[] D-G5[]
we D-M9[T] D-z7[] D-A6] D-F50
D-Mov | D-Z80 D-A3[] D-J50] D-K59
D-Y59[] D-A3[]C D-G5NTL
D-A9] D-M9OW | Dp-v69[] D-P4DWL | D-A44 D-B5[] D-F59F D-G5CIW D-A59W D-F5NTL
D-A9CV | D-M9WV | D-Y7P D-Ad44C D-B64 D-F500W
D-Y7PV D-G39 D-K59W
D-M9CAL | plysw e D-J5OW | "h
D-M9CJAVL | D-YZOWV D-K39 D-F5BAL
D-Y7BAL D-K39C D-G59F
5112 A[B|A|[B|A[B|A|B|A|[B|A|[B|A[B|A|B|A|[B|A]|B
40 6 4 10 8 4 1 3.5 0.5 0.5 0 1 0 7 4 2.5 0 4.5 1.5 12 9
50 6 4 10 8 S5 1.5 S 1 0 0 0.5 0 6.5 4.5 2 0 4 2 11.5 9.5
63 8.5 75 125 | 11.5 6 5 55 4.5 25 1.5 3 2 9 8 4.5 3.5 6.5 55 14 13
80 12 10 16 14 9.5 7.5 9 7 6 4 6.5 4.5 12,5 | 10.5 8 6 10 8 175 | 155
100 13,5 | 125 | 175 | 16,5 | 11 10 10.5 9.5 7.5 6.5 8 7 14 13 9.5 8.5 115 | 105 | 19 18
SE)RBRR RARER T S O ER S TN S BIR,
AR SERENME RIREER  SREERE) (mm)
[ THES D-B5[] H
we D-270] D-B64 oo
D-A9[(] D-280 Dse2oW
DML D-M9CIV |5 o |D-Y690 D-G5(1 | D-A30) D-A5[] |D-F50OW | D-A30IC
D-Merw|D-A90V [D-MOCWVI S 20— ID-Y7PV D-PADWLID G2y | D-G39 | D-Ad44 | D-A6() |D-J59W | D-G39C | D-A44C
D-M9IAVL D-Y7COWV D-G500W | D-K39 D-A59W |D-F5BAL | D-K39C
D-M9IAL D-Y7BAL DYeEaw ier
D-y7oW Deansl D-F5NTL
EAEES Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht Hs Hs Hs Hs | Ht | Hs | Ht | Hs | Hw | Hs | Hw
40 30 30 |31 30 |34 30 (30 |30 |30 |30 |42.5|33 37 71.5 81.5 38.5(31.5|38 [315| 73 69 | 81 69
50 34 34 |35 34 |38 34 |34 |34 (34 |34 |46.5|375 42 76.5 86.5 42 |355|42 (355 785| 77| 865| 77
63 41 41 (415 41 |44 41 |41 41 41 41 52 |43 49 83.5 93.5 46.5|43 |47 |43 85| 91| 95| 91
80 49.5| 49 |50 49 |525| 49 (49.5|49 [49.5(49 |58.5|51.5 57.5 92 102 53.5|51 53.5|51 94 (107 (102 | 107
100 56.5| 56 |58.5| 56 |61 56 |56.5|55.5|57.5|55.5|/66 |58.5 68 102.5 112.5 61.5|57.5|61 57.5(104 | 121 [ 112 | 121
X EEREME (SikBAH:CDA2[1H) (mm)
WM D-B59W D-A5[] D-G50]
w2 D-M9[] D-Z7[] D-A6[] D-F500
D-M9V D-Z80 D-A3[] D-J50] D-K59
D-Y59[] D-A3[]C D-G5NTL
D-ASC) | D-MSOW | D-veorl | p.pgpwy | B-A44 D-BSC) | DFSSF | p.gspw | D-asow | D-FSNTL
D-A90JV |D-M9WV | D-Y7P D-A44C D-B64 D-F5C0W
D-Y7PV D-G39 D-K59W
D-MOTAL | pysmiw ZE D-J5OW | "eleaL
D-M9JAVL | D-Y7OWV D-K39 D-F5BAL
D-Y7BAL D-K39C D-G59F
512 A A|[B|A[B|A[B|A[B|A|[B|A[B|A|B|A|[B|A]|B
40 6 4 10 8 3.5 1.5 3 1 0 0 0.5 0 6.5 4.5 2 0 4 2 115 9.5
50 = = 10 8 BS15) 1.5 S 1 0 0 0.5 0 6.5 4.5 2 0 4 2 11.5 9.5
63 8.5 75 | 125 | 115 6 5 5.5 4 25 1.5 3 2 9 8 4.5 3.5 6.5 5.5 14 13
80 12 10 16 14 9.5 7.5 9 7 6 4 6.5 4.5 45 | 125 8 6 10 8 175 | 155
100 135 | 125 | 175 | 16.5 | 11 10 10.5 9 7.5 6.5 8 7 14 13 9.5 8.5 115 | 10.5 | 19 18
%050 _F ,D-A9[ ], D-A9[ |VEI R T 2,
SE)RIRR RARER T R RS TS R,
TR LS ERENE (SKEAFE:CDA2H) (mm)
REMEFF & D-B5[] -
we D-Z70] D-B64 Do
D-A9[] D-Z80 DSBSV
D-M90J D-M9[V D-Y590] D-Y69] D-G5[] D-A3[] D-A50 |D-F500W |D-A3IC
D-Merw|D-A9TV [D-MOCWVI S >0— ID-Y7PV D-PADWLID'E2Ry) | D-G39 | D-Ad44 | D-A6(] |D-J59W | D-G39C | D-A44C
D-MO[JAVL D-Y7COWV| D-G50W | D-K39 D-A59W |D-F5BAL | D-K39C
D-M9[JAL D-Y7BAL D-K59W D-F59F
e D-GooF D-F5NTL
CAEES Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht Hs Hs Hs Hs | Ht | Hs | Ht | Hs | Hw | Hs | Hw
40 30 30 (32 30 (35 30 (30 30 [30.5 (30 43 |33.5 38 725 80.5 40 |31 38.5|31 73 69 | 81 69
50 |34 |34 [365 |34 39 |34 [34 [34 |35 [s4 |47 |38 | 435 78 86  |435|35 |425|35 | 785| 77| 85| 77
63 41 41 435 | 41 |46 41 41 41 42.5 |41 53 |44 50.5 85 93 49 |42 |48 |42 855 | 91| 9B5| 91
80 49.5 | 49 (51.5 | 49 |54 49 (49.5 |48.5 |51 48.5 | 60 |52 59 93.5 101.5 55.5/50 |54 |50 94 107 [ 102 | 107
100 57 56 [59.5 | 56 |62.5 | 56 |58.5 |56 |59 |56 67 |59 69.5 104 112 63 |57.5|62 |[57.5(104 |121 112 | 121

%050 F D-A9[], D-A9[JVEI Aol 24,

402



BT RR

e Al BERY B /MTAR

=11 CA2 &5

N FF X E (mm)

BT 5% BT % o A A E
S REE DEN: kS 040 [ 050 063 080 2100
24\(%3\@_@ 15 75 80 85 9
D-A _ - — - -
= N 15440 12 75140 24 8o+40 04 85 +401-4 9040114
(n=2,4,6,8 ) (n=4,8,12,16, ) (1=4,8,12,16. )|(n=4,8,12,16, )|(n=4,8,12.16, )| | Jq
24‘(%?)\@—@) 10 50 55 60 65
I
D-A9CV - - - - - CcJP
o o 10+30 ;2 50+30 ;4 55+30 154 60+30%) 65+30 %)
(n=2,4,6,8 ) (n=4,8,12,16, ) (=4,8,12,16, )|(n=4,8,12,16, )|(n=4.8,12.16, )| |0 J9
2revE R 15 80 85 9 95
D-Mo[J ! CM2
D-MOCIW o 15440 22 go+40 -4 85+40 14 90 +404 95+40 4
(n=2,4,6,8 ) (n=4,8,12,16, ) (=4,8,12,16, )|(n=4,8,12,16, )|(=4.8,12.16, )| |n@q
P FE) 10 55 60 65 70
D-M91V ‘ MB
D-M9CIWV o 10+30 ;2 s5+30 {4 60+30 154 65+30 % 70430054
(n=2,4,6,8 ) (n=4,8,12,16, ) (1=4,8,12,16, )|(n=4,8,12,16, )|(n=4.8,12.16, )| |\B1
2/‘\(’%?/F*@ 15 80 85 95 100
o o 15140 02 g0+40 14 85+40 14 95+400% | 100440052
(n=2,4,6,8 ) (n=4,8,12,16, ) (1=4,8,12,16. )|(n=4,8,12,16, )|(n=4,8,12.16, )| |oG{
24\(%;&/@*@) 10 60 65 70 75
I
D-M9[IAVL - - - - —1/CS2
= . 10+30 ;2 60+30 {4 65+30 "4 70+3005% 75+30 0%
(n=2,4,6,8 ) (n=4,8,12,16, ) (n=4,8,12,16, )|(n=4,8,12,16, )|(n=4,8,12,16, )
D-A5[V/A6 2/’\(%?)\@_@ 15 90 100 110 120
D-F5[1/J5 ‘
D-FSOWASOW | 15455 (02 90+55 -4 100+55 5% | 110485 04 | qp0485 (4
D-F5SBAL/F59F (n=2,4,6,8 ) (n=4,8,12,16, ) (n=4,8,12,16, )|(n=4,8,12,16, )|(n=4,8,12,16, )
(EEZ%\ - 20 90 100 110 120
It N
D-A59W ) 20455 122 90+55 154 100+55 "5 | 110455 058 | 120455 (02
(n=2,4,6,8 ) (n=4,8,12,16, ) (n=4,8,12,16, )|(n=4,8,12,16, )|(n=4,8,12,16, )
4 15 90 100 110 120
24
A, 25 110 120 130 140
D-FSNTL _ _ _ _ -
ME—) 25455 12 110+55 054 120455 052 | 130465 5% | 140455 052
(n=2,4,6,8 ) (n=4,8,12,16, ) (n=4,8,12,16, )|(n=4,8,12,16, )|(n=4,8,12,16, )
1=
D-B5[/B64 |2 FE ® 90 100 110
D-G5C/K59 | & B - ) -
D-G500W - 15450 122 90+50 4 100+50 152 110+50 -4
Fas
D-K59W n (n=2,4,6,8 ) (n=4,8,12,16, ) (n=4,8,12,16, ) (n=4,8,12,16, )
g'ggg:" ' - 75+50(n-2) 90+50(n-2) 100+50(n-2) 110+50(n-2)
D-G5NTL i (n=2,3,4, ) (n=2,4,6,8 ) (n=2,4,6,8 ) (n=2,4,6,8 )
14 10 90 100 110
2 # 20 90 100 110
T m-m 75
- 20450 122 90+50 4 100+50 {154 110+50 4
D-B59W n (n=2,4,6,8 ) (n=4,8,12,16, ) (n=4,8,12,16, ) (n=4,8,12,16, )
' e 75+50(n-2) 90+50(n-2) 100+50(n-2) 110+50(n-2)
B (n=2,3,4, ) (n=2,4,6,8 ) (n=2,4,6,8 ) (n=2,4,6,8 )
14 15 90 100 110
2 G 35 75 80 90
~ B—m& 100 100 100 100 D-[]
D-A30] - 35+30(n-2) 75+30(n-2) 80+30(n-2) 90+30(n-2)
D-G39 n B (n=2,3,4, ) (n=2,4,6,8 ) (n=2,4,6,8 ) (n=2,4,6,8 )
D-K39 Ol I 100+100(n-2) 100+100(n-2) -XO
B (n=2,3,4, ) (n=2,4,6,8 ) ~a
14 10 75 [ 80 [ ) -IXyngJI
AR

O
2

403



CA2 %7

BT K Z 3 vl RERY S/ VT AR

NG FFEEL (mm)

[ FIPS [ FIES e E A o 8 B Y
RS REK NSNS R A 240 | 050 063 280 | 2100
2 FE 35
S - 75 80 90
. 35+30(n—2) 75+30(n—2) 80+30(n—2) 90+30(n—2)
D-A44 n i (n=2,3,4, ) (n=2,4,6,8, ) (n=2,4,6,8, ) (n=2,4,6,8, )
o 55+50(n—2) 75+50(n—2) 80+50(n—2) 90+50(n—2)
B (n=2,3,4, ) (n=2,4,6,8, ) (n=2,4,6,8, ) (n=2,4,6,8, )
14 10 75 80 90
2 BE 20 75 80 90
- BA—@ 100 100 100 100
D-A30IC . 20+35(n—2) 75+35(n—2) 80+35(n—2) 90+35(n—2)
D-G39C n (n=2,3,4, ) (n=2,4,6,8, ) (n=2,4,6,8, ) (n=2,4,6,8, )
D-K39C 0 - 100+100(n—2) 100+100(n—2)
- (=2,3,4,5 ) (n=2,4,6,8 )
14 10 75 80 90
2 FHE 20
S = 75 80 90
. 20+35(n—2) 75+35(n—2) 80+35(n—2) 90+35(n—2)
D-A44C n il n=2,3,4, ) (n=2,4,6,8 ) (n=2,46,8_ ) (n=2,4,6,8 )
o 55+50(n—2) 75+50(n—2) 80+50(n—2) 90+50(n—2)
B (n=2,3,4, ) (n=2,4,6,8, ) (n=2,4,6,8, ) (n=2,4,6,8, )
1 10 75 80 90
24 (%@, B—m)
D-Z70/280 T 15 80 85 90 95 105
D-Y59[/Y7P - — - - _ -
D-Y7|:|DW o 15+40 02 go+40 054 85+40 5% 90+40054 95400548 | 105440042
(n=2,4,6,8 ) | (1-4,812,16 ) | (n=4,8,12,16 ) | (1=4,8,12,16 ) | (n=4,8,12,16 ) | (1=4,8,12,16 )
Z/P(%?xﬁ_@ 10 65 75 80 90
D-Y69[/Y7PV !
D-Y7OWV o 10+30 52 65+30 04 75+3005% 80+30% 90+305%
(n=2,4,6,8 ) (n=4,8,12,16 ) (n=4,8,12,16 ) | (1=4,8,12,16 ) | (1=4,8,12,16 )
2/’\(’%?;‘\51_@ 20 95 100 105 110
D-Y7BAL o 20+45 02 95+45 04 100445052 | 105445052 | 1104450052
(n=2,4,6,8 ) (n=4,8,12,16 ) (n=4,8,12,16 ) | (1=4,8,12,16 ) | (1=4,8,12,16 )
2/’\(’%%\@7@ 15 120 130 140
D-P4DWL . 15+65 (122 120+65 154 130+65 5% 140+ 6504
(n=2,4,6,8 ) (n=4,8,12,16 ) (n=4,8,12,16 ) (n=4,8,12,16 )
404

O
2




=i CA2 %7

—h
Zh1ESEE
(mm)
2 E
i} S I 2 > F 2
Lpdiesss 40 | 50 [ 63 | 80 | 100 LA 40 | 50 | 63 | 80 | 100
7.5 8.5 9.5 9.5 | 105 D-Y59[1/Y69]
DAVAIV 1 @ | )| @ | @ | ® | |pvzerov o |7 | ssl esl es
D-Y7OW/Y7OOWV '
D-MOVM9IV D.Y7BAL
D-MOCOW/MOCIWV | 45| 5 | 55| 5 | 6
D-M9JAL/MOJAVL D-F51/J5C/F500W
D-J59W/F5BAL 4 | 4 | 45| 45| 45
D-27| 8.5 7.5 9.5 9.5 | 10.5
L D-F5NTL/F59F
D-A3/A44
D-A3[C/A44C D-G5[/K59/G51W
9 10 11 11 11 D-K59W/G5BAL 5 6 6.5 6.5 7
D-A5[1/A6[] D-G5NTL/G59F
D-BSL/BoA D-G39/K39 9 9 |10 |10 |11
D-A59W 13 13 14 14 15 D-G39C/K39C
D-B59W 14 14 17 16 18 D-P4DWL 4 4 4.5 4 45

HEPHESRS, FRRIEE(IRE£30%), FRERENHMLSERANEL,

S1)( ) fE 5CDA2]Q, CDA2[ JH, CDAZWL HZ 5154 .

;¥2)CDA2[]Q, CDA2[ JH, CDA2W[ JHZ %I| 1D-A9[ ], D-A9[ VEI R o] L %4050 +,

;33)CDA2[JQZ %) thD-A3[], A3[]C, G39, G39C, A44, A44C, G5[JW, K59W, G5BAL, G59F, PADWLE R o] 22 % #£ 040, 950 +,

BT RREGRERS
<FIFRE>
MRS

H4E(mm)
40 50 63 80 100

D-A9[ VA9V
D-Mo/moIV
D-MOOIW/M9CIWV
D-M9JAL/MIJIAVL

D-A5[1/A600
D-A59W

D-F51/J50] BT-04 BT-04 BT-06 BT-08 BT-08
D-F5OW/J59W
D-F59F/F5NTL

D-A3[1C/A44C
D-G39C/K39C
D-Z701/Z80
D-Y591/Y69L]
D-Y7P/Y7PV | BA4-040 | BA4-040 | BA4-063 | BA4-080 | BA4-080
D-Y7COW/N7CIWV
D-Y7BAL
D-P4DWL BAP2-040 | BAP2-040 | BAP2-063 | BAP2-080 | BAP2-080

<M RIFE>
RREER SHERESD SkEER 4T . CDA20IH (R s R
{2 (mm) HL4E(mm)

¥ 3¢ Fi 2 > F 2
HITERES 40 50 63 80 100 HIEAXES 40 50 63 80 100

D-A3[/A44 ) ) . ) ) D-A3[/A44
D-G39/K39 BDS-04M | BDS-05M | BMB1-063 | BMB1-080 | BMB1-100 D-G39/K39
D-B5[1/B64 D-B5[1/B64
D-B59W D-B59W
D-G5[1/K59 y y ) ) ) D-G5[1/K59
D-G5CJW/K59W BH2-040 | BA5-050 | BAF-06 BAF-08 BAF-10 D-G5CJW/K59W
D-G59F D-G59F
D-G5NTL D-G5NTL
71)D-A3[]C, A44C, G39C, K39%! |-, Mk FF xR MM, TTHIMRSERTRRMT,
(5)040493% 4 /D-A3[]C-4, 05049374 /D-A3[]C-5, 063f33%4 /D-A3[]C-6, 080#73%4 /D-A3[]C-8, 010049354 /D-A3[]C-10

[(RERHI R NMESTAKA
TEREEOREWE R HNRETA (S B R RET) BT R E RS,
(FEUMFRREM ARG RN, NSRS, )
BBA1:D-A5, A6, F5, J5%
BBA3:D-B5, B6, G5, K5%!
7E2)BBA1, BBASH) ¥4I A S WP.1357 1365,
D-F5BAL, G5BALBUEZ M FF X R M I, EA LI AFRWEVNRET. B BUFXEEH K, HBBA1, BBA3,
FEB)EAD-MILIA(VIL, Y7BALEYY G 6, 15 Z{EM LRI TF X =R A HBA7-LILIL, BA4-LICID) LM EASEI R ERET & BITRERFWH/NRETAMBBAT, EEAE
BBAT | M4 x 6L R F NI 5 B RETHE A .
FASHESARE AEHNEERER. EENUMXERNRTRENS S WX SH, RER.,

svC 405

BA7-040 | BA7-040 | BA7-063 | BA7-080 | BA7-080

BA3-040 | BA3-050 | BA3-063 | BA3-080 | BA3-100

D-A9[(V), MOLI(V), MO[JW(V), MO[TJA(V)LE! 22 %451,

BD1-04M | BD1-05M | BD1-06M | BD1-08M | BD1-10M

BA-04 BA-05 BA-06 BA-08 BA-10

O

G

(=]
D
—h

gi s

(5]
(7]
—

(]
(7]
N



CA2 %7

e |

BT IE"BSRRIE" PRRMTR, THRMEFRBITRE,
HMAARS IP.1263~1371,

MRS BT X LB HSLA BAk ¥ ILP.1328 1329,
37 5 1) (NC = b =) i UG 14 71 5 (D-FOG, FOH, Y7G, Y7HAY) 3£ P.1290, 1292,

¥ thH FSE R BT fh s g i 7F 55 (D-GSNBLAY) 3£ LP.1320,

U |

406

O

1

1

: A TIESUES S S%sIHAR HlEE

1 D-AS3V, A9V HEERERE) -

1 s D-A90V AT

1 D-A53, A56, B53, Z73, Z76 () -

1 D-A67, Z80 T BRI FE

1 D-MINV, M9PV, M9BV

: D-Y69A, Y69B, Y7PV R -

" D-MINWV, MOPWV, MIBWV BUHER R
I D-YZNWV, Y7PWV, Y7BWV

I D-MONAVL, MOPAVL, M9BAVL it 7K 1438 (2 35 %)
1 D-Y59A, Y598, Y7P

1 TR D-F59, F5P, J59 ~

1 D-Y7NW, Y7PW, Y7BW _ —
1 D-F59W, F5PW, J59W BREHEAR) PR ERITT)
: D-F5BAL, Y7BAL i 7K M58 (2B 35 7R)
I D-F5NTL, G5NTL i A

I D-P5DWL i 3R 847 (2B I8 7R)
1

1





